1. 
[image: image1.wmf]a

a

=

a

cos

sin

tg


2. 
[image: image2.wmf]a

a

=

a

sin

cos

ctg


3. 
[image: image3.wmf]1

sin

cos

2

2

=

a

+

a


4. 
[image: image4.wmf]a

=

a

ctg

1

tg


5. 
[image: image5.wmf]a

=

a

tg

1

ctg


6. 
[image: image6.wmf]1

ctg

tg

=

a

×

a


7. 
[image: image7.wmf]a

=

a

+

2

2

sin

1

ctg

1


8. 
[image: image8.wmf]a

=

a

+

2

2

cos

1

tg

1


9, 10. 
[image: image9.wmf]b

×

a

b

×

a

=

b

±

a

sin

cos

cos

sin

)

sin(

m


11, 12. 
[image: image10.wmf]b

×

a

b

×

a

=

b

±

a

sin

sin

cos

cos

)

cos(

m


13, 14. 
[image: image11.wmf]a

±

b

b

×

a

=

b

±

a

ctg

ctg

1

ctg

ctg

)

(

ctg

m


15, 16. 
[image: image12.wmf]b

×

a

b

±

a

=

b

±

a

tg

tg

1

tg

tg

)

(

tg

m


17. 
[image: image13.wmf]a

×

a

=

a

cos

sin

2

2

sin


18. 
[image: image14.wmf]a

-

=

a

2

sin

2

1

2

cos


19. 
[image: image15.wmf]1

cos

2

2

cos

2

-

a

=

a


20. 
[image: image16.wmf]a

-

a

=

a

2

2

sin

cos

2

cos


21. 
[image: image17.wmf]a

-

a

=

a

3

sin

4

sin

3

3

sin


22. 
[image: image18.wmf]a

×

a

-

a

×

a

=

a

sin

cos

4

sin

cos

8

4

sin

3


23. 
[image: image19.wmf]a

-

a

=

a

cos

3

cos

4

3

cos

3


24. 
[image: image20.wmf]1

cos

8

cos

8

4

cos

2

4

+

a

-

a

=

a


25. 
[image: image21.wmf]a

-

a

=

a

2

tg

1

tg

2

2

tg


26. 
[image: image22.wmf]a

-

a

=

a

ctg

2

1

ctg

2

ctg


27. 
[image: image23.wmf]a

-

a

-

a

=

a

2

3

tg

3

1

tg

tg

3

3

tg


28. 
[image: image24.wmf]1

ctg

3

ctg

3

ctg

3

ctg

2

3

-

a

a

-

a

=

a


29. 
[image: image25.wmf]a

+

a

-

a

-

a

=

a

4

2

3

tg

tg

6

1

tg

4

tg

4

4

tg


30. 
[image: image26.wmf]a

-

a

+

a

-

a

=

a

ctg

4

ctg

4

1

ctg

6

ctg

4

ctg

3

2

4


31. 
[image: image27.wmf]2

cos

1

2

sin

a

-

=

a


32. 
[image: image28.wmf]2

cos

1

2

cos

a

+

=

a


33, 34. 
[image: image29.wmf]a

a

-

=

a

+

a

=

a

sin

cos

1

cos

1

sin

2

tg


35, 36. 
[image: image30.wmf]a

a

+

=

a

-

a

=

a

sin

cos

1

cos

1

sin

2

ctg


37. 
[image: image31.wmf]2

cos

2

sin

2

sin

sin

b

-

a

×

b

+

a

=

b

+

a


38. 
[image: image32.wmf]2

cos

2

sin

2

sin

sin

b

+

a

×

b

-

a

=

b

-

a


39. 
[image: image33.wmf]2

cos

2

cos

2

cos

cos

b

-

a

×

b

+

a

=

b

+

a


40. 
[image: image34.wmf]2

sin

2

sin

2

cos

cos

b

-

a

×

b

+

a

-

=

b

-

a


41. 
[image: image35.wmf]b

×

a

b

+

a

=

b

+

a

cos

cos

)

sin(

tg

tg


42. 
[image: image36.wmf]b

×

a

b

-

a

=

b

-

a

cos

cos

)

sin(

tg

tg


43. 
[image: image37.wmf]b

×

a

b

+

a

=

b

+

a

sin

sin

)

sin(

ctg

ctg


44. 
[image: image38.wmf]b

×

a

b

-

a

-

=

b

-

a

sin

sin

)

sin(

ctg

ctg


45. 
[image: image39.wmf])

45

cos(

2

sin

cos

0

a

-

×

=

a

+

a


46. 
[image: image40.wmf])

45

sin(

2

sin

cos

0

a

-

×

=

a

-

a


47. 
[image: image41.wmf]b

×

a

b

-

a

=

b

+

a

sin

cos

)

cos(

ctg

tg


48. 
[image: image42.wmf]b

×

a

b

+

a

-

=

b

-

a

sin

cos

)

cos(

ctg

tg


49. 
[image: image43.wmf]a

-

=

a

-

a

2

tg

2

ctg

tg


50. 
[image: image44.wmf]2

cos

2

cos

1

2

a

=

a

+


51. 
[image: image45.wmf]2

sin

2

cos

1

2

a

=

a

-


52. 
[image: image46.wmf])

2

45

(

cos

2

sin

1

0

2

a

-

=

a

+


53. 
[image: image47.wmf])

2

45

(

sin

2

sin

1

0

2

a

-

=

a

-


54. 
[image: image48.wmf]2

2

cos

1

sin

2

a

-

=

a


55. 
[image: image49.wmf])

3

sin

sin

3

(

4

1

sin

3

a

-

a

=

a


56. 
[image: image50.wmf]2

2

cos

1

cos

2

a

+

=

a


57. 
[image: image51.wmf])

cos

3

3

(cos

4

1

cos

3

a

+

a

=

a


58. 
[image: image52.wmf])

3

2

cos

4

4

(cos

8

1

sin

4

+

a

-

a

=

a


59. 
[image: image53.wmf])

3

2

cos

4

4

(cos

8

1

cos

4

+

a

+

a

=

a


60. 
[image: image54.wmf]))

sin(

)

(sin(

2

1

cos

sin

b

-

a

+

b

+

a

=

b

×

a


61. 
[image: image55.wmf]))

cos(

)

(cos(

2

1

cos

cos

b

-

a

+

b

+

a

=

b

×

a


62. 
[image: image56.wmf]))

cos(

)

(cos(

2

1

sin

sin

b

+

a

-

b

-

a

=

b

×

a


63. 
[image: image57.wmf]2

x

1

x

arctg

x

arccos

2

)

x

arcsin(

x

arcsin

-

=

-

p

=

-

-

=


64. 
[image: image58.wmf]2

x

1

x

arcctg

x

arcsin

2

)

x

arccos(

x

arccos

-

=

-

p

=

-

-

p

=


65. 
[image: image59.wmf]2

x

1

x

arcsin

arcctgx

2

)

x

(

arctg

arcctgx

+

=

-

p

=

-

-

=


66. 
[image: image60.wmf]2

x

1

x

arccos

arctgx

2

)

x

(

arcctg

arcctgx

+

=

-

p

=

-

-

p

=


67. 
[image: image61.wmf]x

arcsin

)

x

arcsin(

-

=

-


68. 
[image: image62.wmf]x

arccos

)

x

arccos(

-

p

=

-


69. 
[image: image63.wmf]arctgx

)

x

(

arctg

-

=

-


70. 
[image: image64.wmf]arctgx

)

x

(

arcctg

-

p

=

-


71. 
[image: image65.wmf]2

tg

1

2

tg

1

cos

2

2

a

+

a

-

=

a


72. 
[image: image66.wmf]2

tg

1

2

tg

2

sin

2

a

+

a

=

a


73. 
[image: image67.wmf]Z

Î

p

+

-

=

<

=

n

,

n

a

arcsin

)

1

(

x

1

a

;

a

x

sin

n


74. 
[image: image68.wmf]Z

Î

p

+

±

=

<

=

n

,

n

2

a

arccos

x

1

a

;

a

x

cos


75. 
[image: image69.wmf]Z

Î

p

+

=

=

n

,

n

arctga

x

a

tgx


76. 
[image: image70.wmf]Z

Î

p

+

=

=

n

,

n

arcctga

x

a

ctgx


77. 
[image: image71.wmf]a

)

a

cos(arccos

a

arccos

0

1

a

при

=

p

£

£

£


78. 
[image: image72.wmf]a

)

a

sin(arcsin

2

a

arcsin

2

1

a

при

=

p

£

£

p

-

£


79. 
[image: image73.wmf]a

)

arctga

(

tg

2

arctga

2

a

при

=

p

<

<

p

-

"


80. 
[image: image74.wmf]a

)

arcctga

(

сtg

arcctga

0

a

при

=

p

<

<

"


81. 
[image: image75.wmf]2

a

arccos

a

arcsin

p

=

+


82. 
[image: image76.wmf]2

arcctga

arctga

p

=

+


83. 
[image: image77.wmf]Z

Î

p

=

=

n

,

n

x

0

x

sin


84. 
[image: image78.wmf]Z

Î

p

+

p

=

=

n

,

n

2

x

0

x

cos


85. 
[image: image79.wmf]Z

Î

p

+

p

=

=

n

,

n

2

2

x

1

x

sin


86. 
[image: image80.wmf]Z

Î

p

=

=

n

,

n

2

x

1

x

cos


87. 
[image: image81.wmf]a

sin

x

2

a

2

a

x

arcsin

=

p

£

£

p

-

=


88. 
[image: image82.wmf]a

cos

x

a

0

a

x

arccos

=

p

£

£

=


89. 
[image: image83.wmf]tga

x

2

a

2

a

arctgx

=

p

<

<

p

-

=


90. 
[image: image84.wmf]ctga

x

a

0

a

arcctgx

=

p

£

£

=


_1142156233.unknown

_1142157320.unknown

_1142159192.unknown

_1142160672.unknown

_1142160940.unknown

_1142162203.unknown

_1142363494.unknown

_1142161059.unknown

_1142161315.unknown

_1142161376.unknown

_1142161230.unknown

_1142160987.unknown

_1142160825.unknown

_1142160886.unknown

_1142160778.unknown

_1142160127.unknown

_1142160439.unknown

_1142160617.unknown

_1142160218.unknown

_1142159551.unknown

_1142159876.unknown

_1142160003.unknown

_1142159515.unknown

_1142157884.unknown

_1142158706.unknown

_1142158789.unknown

_1142159049.unknown

_1142158752.unknown

_1142158351.unknown

_1142158449.unknown

_1142158230.unknown

_1142157634.unknown

_1142157754.unknown

_1142157872.unknown

_1142157644.unknown

_1142157440.unknown

_1142157511.unknown

_1142157387.unknown

_1142156753.unknown

_1142156995.unknown

_1142157161.unknown

_1142157178.unknown

_1142157041.unknown

_1142156920.unknown

_1142156941.unknown

_1142156818.unknown

_1142156470.unknown

_1142156724.unknown

_1142156731.unknown

_1142156534.unknown

_1142156332.unknown

_1142156433.unknown

_1142156289.unknown

_1142104442.unknown

_1142105216.unknown

_1142155948.unknown

_1142156107.unknown

_1142156196.unknown

_1142156080.unknown

_1142155841.unknown

_1142155920.unknown

_1142105457.unknown

_1142104890.unknown

_1142105050.unknown

_1142105208.unknown

_1142104977.unknown

_1142104660.unknown

_1142104792.unknown

_1142104525.unknown

_1142103703.unknown

_1142104218.unknown

_1142104341.unknown

_1142104390.unknown

_1142104283.unknown

_1142103976.unknown

_1142104184.unknown

_1142103939.unknown

_1142098137.unknown

_1142103518.unknown

_1142103577.unknown

_1142103486.unknown

_1142097953.unknown

_1142097984.unknown

_1142097892.unknown

